# St Aloysius College Adelaide





## Please order online at www.campion.com.au

using "V2MV" as your code by Tuesday 5th December 2023

### \*\*\* ALL ORDERS MUST BE PREPAID \*\*\*

								PF	REF	PAC	CKA	AGI	ED	DE	ELI	VE	RY	SE	R۱	/IC	E								
STUDENT GIVEN NAME(s)							5	STUDENT SURNAME																					
ADDRESS													L		_						1							 	
	1					!_																	 					 	
SUBURB			J				STATE							POST CODE															
PARENT/GU	AIL AD			E/PH			ER		ı		1	1			<u> </u>	1		1			_	1		J				 	
SCHOOL SU EMAIL ADDF		D STI	JDEI	NT																									

#### ▼ TEAR OFF SLIP - PLEASE RETAIN ▼

HOME DELIVERY – Paid Orders will be delivered to the nominated address the fortnight ending Friday, 12 January 2024. Include business and parents name on deliveries to work addresses.

UNPAID ORDERS WILL NOT BE DISPATCHED. CHEQUES WILL NOT BE ACCEPTED.

REVISION GUIDES & STUDY GUIDES are not available until Term 2. There are no refunds for Revision/Study Guides as they are ordered on demand. Please contact Campion if your child is changing subjects.



Your Retail Service Centre 29 O G ROAD KLEMZIG SA 5087 Contact Us 08 8337 4544 sasales@campion.com.au

### Important notes for ordering your educational resources

#### Completing your resource list

- The easiest way to get all your education resources is to submit your order online at <a href="https://www.campion.com.au">www.campion.com.au</a> by the due date. You can find the due date printed on the front cover of this list.
- Place a tick in the box to select each item you need. We'll supply the items you've ticked.
- If you will be away from home during delivery periods, consider providing a delivery address you can use as an alternative, such as
  grandparents, neighbours, your work address with parent name etc.

#### Ordering access to digital products

- · Your resource list may contain digital items that can only be purchased by ordering them online at www.campion.com.au
- · After you order them, access to these products will be provided via email for each product or will be provided at school.
- · Please order your digital products carefully as returns and refunds cannot be provided on these items.
- · Access to digital products cannot be purchased in our Retail Service Centres and must be ordered online.

#### **Payment**

- Full payment is required at the time the order is placed. Payment can be made via:
  - · Credit Card (Visa or Mastercard only)
  - Money Order (available from Australia Post)
- Cheques or cash cannot be accepted.
  - \*Prices are correct at the time of printing and are subject to change without notice.

### **Late Orders**

- If you missed placing your order by the due date, you can still place your order online at <a href="https://www.campion.com.au">www.campion.com.au</a> and select the remaining delivery option.
- Delivery charges for late orders are \$5.50 per item, up to a maximum of \$13.95 per student order.
- Please note that our Retail Service Centre becomes very busy in the weeks before school returns. Stock availability cannot always be guaranteed in our Retail Service Centre and for late orders.

#### **Oversized items**

· Oversized items that cannot be posted will be distributed at your school.

#### Returns and refunds

- Exchanges and refunds will be made on any goods deemed faulty from the manufacturer.
- Refunds may be provided on textbooks that are in their original condition (including intact shrink-wrapping where applicable) up to the 25th of February or two weeks after the purchase date, whichever is later.
- · Access to digital products cannot be returned or refunded please order these items carefully.
- A Campion representative will be available at your school in Term 1 to handle any issues associated with supply of books, or you can post your returns to Campion Education, PO Box 56, Campbelltown, SA, 5074.

#### **Retail Service Centre hours**

· Our Retail Service Centre hours are:

Monday - Friday 9:00am to 5:00pm. Saturday from 9:00am to 12:00pm

Our helpline is: 08 8337 4544 or email: sasales@campion.com.au

We are closed on public holidays.

**INSTHDPPSA** 

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	Year 12	uroc <sup>1</sup>	iet These	nroduoto o	einale	
	Please Note that there are digital products (eCode or cCode) on this Reso licenses and are only valid for 1 year (unless otherwise stated). Digital res exchanged if you do change your mind, even if you haven't used or activa items carefully ensuring the correct resources are selected for your child'	ource ted th	s cannot b em. We rec	e returned, r	efunded o	r
	COMPULSORY					
P50887	St Aloysius College Secondary Diary	1	$\checkmark$	1	0.01	0.01
P50151	Padlock Combination Master 1525V36 With Key Override (May be retained from previous year)	2		1	21.21	21.21
	ANCIENT STUDIES					
P50810	Pad A4 50 Leaf Bond Ruled Punched	3		1	1.83	1.83
	BIOLOGY					
P32371	SACE 2 Biology Essentials Workbook 2E [Alan Crierie et al]	4		1	77.63	77.63
P34236	SASTA Biology Study Guide 2024 (Term 2 2024) [SASTA]  New Edition for 2024	5		1	41.25	41.25
P01758	Biology Levels of Life Workbook AC [Lecornu]	6		1	27.90	27.90
	BUSINESS INNOVATION No items required					
	OUEMOTRY					
P30329	CHEMISTRY  SACE 2 AC Chemistry Essentials Workbook 3E [Marie Daziani, Kate Morgante Luke Starczak, Stephen Tulip]	, 7		1	75.30	75.30
P34237	SASTA Chemistry Study Guide 2024 (Term 2 2024) [SASTA]	8		1	41.25	41.25
P55957	New Edition for 2024  Notebook A5 200 Page Indexed Black & Red	9		1	5.78	5.78
	Retained from Year 11	Ü		·	0.70	0.70
	CHINESE (BACKGROUND)					
P55442	Display Book A4 20 Pocket Black Refillable	10		1	1.83	1.83
	CHINESE (CONTINUERS)					
P55442	Display Book A4 20 Pocket Black Refillable	11		1	1.83	1.83
P55970	Memo Book 165x100mm 80 Page	12		1	1.45	1.45
	DRAMA					
	(School Laptop will be used in this subject)					
	ECONOMICS					
P50810	Pad A4 50 Leaf Bond Ruled Punched	13		1	1.83	1.83
	ENGLISH					
P50281	Document Envelope A4 PP With Press Stud Clear	14		1	1.06	1.06
P50810	Pad A4 50 Leaf Bond Ruled Punched	15		2	1.83	3.66
P56328	Pocket Plastic A4 11 Hole Pkt 10	16		2	1.11	2.21
	ENGLISH AS AN ADDITIONAL LANGUAGE  No items required					
	ENGLISH LITERARY STUDIES					
P08978	SACE 2 English Literary Studies Essential Workbook 2E [Shane Crilly]	17		1	41.20	41.20
P55551	Exercise Book A4 96 Page 8mm	18	$\Box$	1	1.40	1.40

R 12 Page 3

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	ESSENTIAL ENGLISH					
P55551	Exercise Book A4 96 Page 8mm	19		1	1.40	1.40
	FRENCH (CONTINUERS)					
P31937	Tapis Volant Senior Workbook 2E (Print & Digital) [Chamberlain et al]	20		1	52.16	52.16
	Retained from previous year.					
P17049	Schaum's Outline of French Grammar 7E [Crocker]	21		1	34.16	34.16
D=0770	(Students new to SACE only. Retain copy from Year 11)					
P50779	Exercise Book A4 48 Page 8mm with Margin Spirax #100	22		1	1.02	1.02
P55442	Display Book A4 20 Pocket Black Refillable	23		1	1.83	1.83
P55970	Memo Book 165x100mm 80 Page	24		1	1.45	1.45
	INFORMATION PROCESSING & PUBLISHING					
P50131	Display Book A4 20 Pocket Clear Cover Black Refillable	25		2	1.96	3.91
P55440	Display Book A4 Refills Pkt 10	26		2	1.07	2.13
	INTECDATED LEADNING					
P55442	INTEGRATED LEARNING Display Book A4 20 Pocket Black Refillable	27		2	1.83	3.66
1 00 1 12	Display Book A4 20 Focket Black Neilliable	21		2	1.00	3.00
	ITALIAN (CONTINUERS)					
P31881	Italian Grammar Drills 4E [Nanni-Tate]	28		1	25.16	25.16
	(To be purchased if not already done so in previous year)					
P55442	Display Book A4 20 Pocket Black Refillable	29		1	1.83	1.83
P55551	Exercise Book A4 96 Page 8mm	30		2	1.41	2.81
	LEGAL STUDIES					
P50810	Pad A4 50 Leaf Bond Ruled Punched	31		1	1.83	1.83
P34563	Legal Studies Revision Guide 2024 Stage 2 [LETASA]	32		1	35.37	35.37
	New Edition for 2024		_			
	ESSENTIAL MATHEMATICS					
E31210	Digital MASA Yr12 Ess Maths Study & Rev Guide (Haese Code)	33	DIGITAL IT	EM 1	29.95	29.95
	Digital product available via access codeGuide not published until Te	rm 1. Pre-	ordering requ	ired. No R	efunds.	
P50038	Calculator Casio Graphic FX-CG50AU	34		1	276.95	276.95
	Replacing (Casio Graphic FX-CG20AU) Which can be retained from p	revious ye	ars.			
P55751	Calculator Padded Case (Graphical) Economy	35		1	7.01	7.01
P55442	Display Book A4 20 Pocket Black Refillable	36		1	1.83	1.83
P55662	Graph Book A4 96 Page 5mm	37		2	1.70	3.40
P55671	Graph Pad A4 25 Leaf 5mm 7 hole punched	38		1	2.47	2.47
P56354	Protractor 10 cm 360 4" Full Circle	39		1	0.72	0.72
	GENERAL MATHEMATICS					
E31230	Digital MASA Yr12 Gen Maths Study & Rev Guide (Haese Code)	40	DIGITAL IT	EM 1	29.95	29.95
	Digital product available via access codeGuide not published until Te	rm 1. Pre-	ordering requ	ired. No R	efunds.	
P50038	Calculator Casio Graphic FX-CG50AU	41		1	276.95	276.95
	Replacing (Casio Graphic FX-CG20AU) Which can be retained from p	revious ye	ars.			
P55751	Calculator Padded Case (Graphical) Economy	42		1	7.01	7.01
P55442	Display Book A4 20 Pocket Black Refillable	43		1	1.83	1.83
P55662	Graph Book A4 96 Page 5mm	44		2	1.70	3.40
P55671	Graph Pad A4 25 Leaf 5mm 7 hole punched	45		1	2.47	2.47
	MATHEMATICAL METHODS					
E31231	Digital MASA Yr12 Math Method Study & Rev Guide (Haese Code)	46	DIGITAL IT	EM 1	29.95	29.95
	Digital product available via access codeGuide not published until Te	rm 1. Pre-	ordering requ	ired. No R	efunds.	
P50038	Calculator Casio Graphic FX-CG50AU	47		1	276.95	276.95
	Replacing (Casio Graphic FX-CG20AU) Which can be retained from p	rovious vo	arc			

Page 4

Office Use	Description	ltem No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
P55751	Calculator Padded Case (Graphical) Economy	48		1	7.01	7.01
P55442	Display Book A4 20 Pocket Black Refillable	49		1	1.83	1.83
P55662	Graph Book A4 96 Page 5mm	50		2	1.70	3.40
P55671	Graph Pad A4 25 Leaf 5mm 7 hole punched	51		1	2.47	2.47
	MODERN HISTORY					
P50810	Pad A4 50 Leaf Bond Ruled Punched	52		1	1.83	1.83
	MUSIC STUDIES					
P50201	Music Pads A4 50 Leaf Punched	53		1	4.04	4.04
P55442	Display Book A4 20 Pocket Black Refillable	54		1	1.83	1.83
	MUSIC PERFORMANCE - ENSEMBLE No Items Required					
	MUSIC PERFORMANCE - SOLO					
P55442	Display Book A4 20 Pocket Black Refillable	55		1	1.83	1.83
	MUSIC EXPLORATIONS					
P50201	Music Pads A4 50 Leaf Punched	56		1	4.04	4.04
P55442	Display Book A4 20 Pocket Black Refillable	57		1	1.83	1.83
	OUTDOOR EDUCATION					
	(School Laptop will be used in this subject)					
	PHYSICAL EDUCATION					
P05917	SACE 2 Physical Education Essentials Workbook 5E (2020)	58		1	64.70	64.70
P55105	Binder A4 2D Ring 25mm PP Insert White	59		1	5.19	5.19
P56328	Pocket Plastic A4 11 Hole Pkt 10	60		4	1.11	4.42
	PHYSICS					
P12754	SACE 2 AC Physics Essentials Workbook 2E [Maria Caruso]	61		1	75.30	75.30
P34239	SASTA Physics Study Guide 2024 (Term 2 2024) [SASTA] New Edition for 2024	62		1	41.25	41.25
P50131	Display Book A4 20 Pocket Clear Cover Black Refillable	63		1	1.96	1.96
P55636	Geoliner	64		1	1.79	1.79
P51085	Highlighters Pkt 4 Artline Vivix	65	$\overline{}$	1	8.12	8.12
P50866	Pad Test Graph A4 2mm 25 Leaf Punched	66	$\overline{}$	1	4.29	4.29
P50810	Pad A4 50 Leaf Bond Ruled Punched	67	$\overline{}$	2	1.83	3.66
P56172	Pencil (HB) Tradition	68	$\overline{}$	3	0.72	2.17
P56464	Set Square Plastic 32cm/60	69		1	5.48	5.48
P56414	Ruler 300mm Plastic Clear	70		1	0.64	0.64
	PSYCHOLOGY					
P30330	SACE 2 Psychology Essentials Workbook [Gebert et al]	71		1	86.25	86.25
P34240	SASTA Psychology Study Guide 2024 (Term 2 2024) [SASTA]	72		1	41.25	41.25
	New Edition for 2024		_			
P55551	Exercise Book A4 96 Page 8mm	73		2	1.41	2.81
	RELIGION					

No items required

### **SCIENTIFIC STUDIES**

No items required

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	SOCIETY & CULTURE					
	No items required					
	SPECIALIST MATHEMATICS					
E31232	Digital MASA Yr12 Spec Maths Study & Rev Guide (Haese Code)	74	DIGITAL ITEM	1	29.95	29.95
	Digital product available via access codeGuide not published until Te	erm 1. Pre-	ordering required	d. No R	efunds.	
P55662	Graph Book A4 96 Page 5mm	75		2	1.70	3.40
P55442	Display Book A4 20 Pocket Black Refillable	76		1	1.83	1.83
P55671	Graph Pad A4 25 Leaf 5mm 7 hole punched	77		1	2.47	2.47
	VISUAL ARTS - ART					
P50091	Art Folio A2 Mindrex Korflute	78		1	12.16	12.16
	New students only, retain from previous year.					
P56677	Visual Art Diary A3 60 Sheet 110gsm	79		2	8.46	16.92
P56021	Paint Watercolor Koh-I-Noor Discs 18's Assorted Colours	80		1	15.17	15.17
P51256	Brush Round White Synthetic No 2 Jasart	81		1	4.00	4.00
P55237	Brush Water Colours Taklon #907/4	82		1	8.20	8.20
P51258	Brush Round White Synthetic No 6 Jasart	83		1	5.61	5.61
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	84		3	8.12	24.35
P56182	Pencil (2B) Tradition	85		1	0.72	0.72
P56194	Pencil (4B) Tradition	86		1	0.72	0.72
P56201	Pencil (6B) Tradition	87		1	0.72	0.72
	VISUAL ARTS - DESIGN					
P56677	Visual Art Diary A3 60 Sheet 110gsm	88		2	8.46	16.92
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	89		3	8.12	24.35
P56081	Marker Artline #200 Black 0.4mm	90		4	3.23	12.92
P56021	Paint Watercolor Koh-I-Noor Discs 18's Assorted Colours	91		1	15.17	15.17
	New students only. Retain from previous year.					
P56182	Pencil (2B) Tradition	92		1	0.72	0.72
	WORKPLACE PRACTICES					
P55105	Binder A4 2D Ring 25mm PP Insert White	93		1	5.19	5.19
P51137	Binder Wallet A4 Marbig	94		1	2.38	2.38
P50131	Display Book A4 20 Pocket Clear Cover Black Refillable	95		1	1.96	1.96
	Number of Boxes ticked:					
	Delivery, packaging & handli	ng	\$9.90	_		

ESTIMATED AMOUNT DUE (PRICES CORRECT AT 15/11/23)